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Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU
ARE TOLD TO DO SO.

2. Write your name and registration number on the cover of this
question booklet.

3. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next
to each answer box. No mark will be given if you failed to follow
this instruction.

4. If the information printed on your answer sheet is not correct,
please inform the invigilator immediately.

5. Rough-work sheets provided will be collected at the end of the
contest but they will not be marked.

6. Diagrams in this question booklet are not necessarily drawn to
scale.
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1) 24 +56=7 [1%]
2) 801-243 =7 [1%]
3) 125-38=7 [1%]
4) 9x7=7? [1%]
5) 52+ 4=7 [1%]
6) 38x7=7? [1%]
7)) 112+7=7 [1%]
8) 25+6X15="7? [1%]
9) 66+ 28 + 28+ 28+ 28 +28="7 [1%)]
10) 2x3+3X4+4X5+5x6=7? [1%]
11) 12-28 +37-15="7 [1%]
12) 67 x (34-28) =? [1%]
13) 7 x (67 + 32) =? [1%]
14) 102 +3 =7 [1%]
15) 2019 + 3 =7 [1%]
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16) A piece of cake costs $32. If Bobby buys 6 [2.0%]
pieces of cake, how much does he have to

pay?

—ﬁtm#ﬁg 327c. /MNAET 6 HEHE, HhEE
FE2 S

17) Form the largest 5-digit odd number by using [2.1%)]
the number cards below.

AL THRIEF AR —E &R KR A A &

02358l

18) A bag of candies costs $21. A box of biscuits [2.2%]
costs $18. How much do 4 bags of candies
and 7 boxes of biscuits cost?

—BBRE 21T, —éﬁ#ﬁ’iﬁi 18 jT, f 4 €14
RN 7 SHEHEZ DT
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19) Find the missing number. [2.3%)]

ARG ERETF

1 km 70 m = [4 m

20) Miss Chan wants to give some candies to 6 [2.4%]
children evenly. If she has 45 candies and she
wants to give out all of her candies, at least
how many more candies does she need to
buy?

BREZ MBI —EER T4 6 (I/NAK. B
MZEE AR 45 fER, R BLAAER
#MEH, FsOESERRS DA
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21) A pizza restaurant sells 125 pizzas per day on [2.5%]
weekdays. It sells 110 more pizzas each day on
Saturdays and Sundays. How many pizzas does
the pizza restaurant sell in a week?

HEETLA SR EHES 12518, 2815, HEE
THEZEM 110 #. AEHE—EREENT
B 25 M ?

22) A rectangle has four equal sides. It is a/an [2.6%]

—{E&R AT A LEERRIEZE. EE—(E '
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23) Write the fraction that represents the shaded [2.7%]
part.

FERBTIEEENETZE?
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24) What is g of 917 (2.8%]

m%%%%v
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25) The flight time from Hong Kong to Los Angeles  [2.9%]
Is 12 hours 50 minutes. If the flight arrived at
Los Angeles at Hong Kong time 4:20 a.m.,
when did the flight take off? (Answer In
24-hour time.)

it B RH HAIFRITRFREZ 12 /\BF 50 748
IR T B E L 4 B 20 THEBZH
EEEEREER? (L 24 NEFREFIMES. )

26) After pouring the water from the containerinto  [3.0%)]
5 cups evenly, how much water in millilitres is
there in each cup?

?IE%*%E hIKEIEE 5 EM1E . BEFBEKS
/ \%9‘-}-‘?

e U
YA




MathConceptition 2019

27) Bobby is moving a heavy box. He finds four [3.1%)]
friends to help him. However, it is still too
heavy and each person finds four more friends
to help. How many people are moving the
box?

NRER—HEY, HRKXE, FrAMbikRT 4 I
REIT. AI2BAMAE, BAXEBHKK 4 (I
&REIT. REEZDA—EM?

28) Arrange the following fractions from the [3.2%]
largest to the smallest.

B T5 38R KZENHET
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29) John has 15 apples and Bobby has 9 apples. [3.3%]
How many apples does John have to give
Bobby so that the number of apples Bobby
has is two times that of John?

NI 15 (BB . N O EHRE. PUNREA
INESDEER . F TEABHEREE 2
IR

30) It is given that 31°' March 2019 is Sunday. [3.4%)]
Which day of the week is 31°* March 2020?

24120194 3 A 31 HEEHA, [ 2020 &£
3 A 31 HREH4”?
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31) The result of a number plus 4, minus 4, times  [4.0%]
4 and divided by 4 is 0. What is this number?

—{EELhn 4. F 4. T’ 4, BRLARNERE 0,
EEE S EE?

32) How many pair(s) of parallel lines are there in  [4.1%]
the figure below?

TERZDEHEITR?

33) There are 15 questions in a math test. 3 marks [4.2%]
are given when the question is answered
correctly. 1 mark is deducted when the question
iIs answered wrongly. If Peter answered all
questions and got 9 marks, how many
questions did he answer wrongly?

HNERRE 15 EEE, EH—EB3 N, BHE
—&Z0 1 7. MRPMAEET A HELSE
O, EHETZVEZER?
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34) A, B and C went shopping together. A and B  [4.3%]
spent $3042 altogether, B and C spent $3579
altogether, C and A spent $2585 altogether.

Find the least amount spent by one of the
three people.

A. B C—EEHIZEYW. 251 A #f1 B —%
HE 7T 3042 5T, BF1 C —HilE T 3579 &,
Cf A—HiHET 2585 &, HERIVHIANE
BT %/?

35) Bobby writes a number : 1011121314... [4.4%]
What is the 99thdigit from the left?

INPBET—HBEFEWT S 1011121314,
Wtk iEHE, MERE 99 EHFEEAE?

36) If the sum of all digits of a 5-digit odd number [4.5%)]
is 18, what is the largest possible value of the
number?

—(ERMEHFEHFZHE 18, EEFTARE

7

P10
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37) Which 4-digit number does “ABCD"” represent? [4.6%]

ABCD {X 3= B —{[& 0 i £ ?

A

A B

A B C

+ A B C D
2 0 1 9

38) There is a beam balance with a 1-kg, a 2-kg [4.7%]
and a 5-kg standard weights. How many items
of different weights can be measured?

AR —E, 1 kg k588, 2 kg REESF0 5 kg %
BE—E. BT EEZ PEAREENY m?
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39) How many three-digit numbers are there so [4.8%)]
that the product of its three digits is 16?

BEMME 3 12, EMM=ENFZEE 167

40) Count the number of rectangles that [4.9%)]
contains Q).

a4 O BwEARESVE?

O

End of paper
£H57T

P12




MATH g=.28435
CONCEPTITION

REG NO

NAME

GROUP

SEAT

ANSWER SHEET
- - - -
ANSWER ANSWER ANSWER ANSWER
1 80 ot 6 |0n1095 o 0 |o
17
2 558 |po|® 402 |p|* square | O |7 6 O
13
3 87 013 693 Ozs 1_6 033 9 O
+ 63 g 34 |g/® 78 |g|*1024 |O
s 13 Ol® 673 |o|®15:30 || 5 O
" 266 |o® 192 |o|® 320 || 98001 |G
7 16 O 17 98523 O 27 )§ O 37 1819 O
10 7 21
8 115 O 18 210 O 1_3'1_0'E'Z O 38 8 O
o 206 O 19 1070 O 29 7 O 39 12 O
10 68 ol® 3 O|® Z/TUE |o|% 24 O
— — — ]

‘  [o]o]e]e] [e]e]0le] (0l0]0)6] (o]6]e]e] [ole]e]e] (6]e]e]6] (o]6]e]e] [o]ele]e] [e]6]6]6] [ele]ee)





